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TRUONG DAl HOC VAN LANG
PON VI: KHOA NGOAI NGU

DE THI VA PAP AN
THI KET THUC HQC PHAN
Hoc ky 1, nam hoc 2023-2024

I. Thong tin chung

Tén hoc phan: | Ngit &m va &m vi hoc tiéng Anh

M4 hoc phan: | 72ENGL40303 Sé tin chi: | 3
M4a nhém 16p hoc phan: | 232_72ENGL40303 01
Hinh thie thi: Tric nghiém két hop Tw luan Thoi gian 1am bai: | 75 | phat
Thi sinh dwoc tham khdo tai liéu: [1Cé Khéng
I1. Cac yéu cau caa dé thi nhim dap wng CLO
Lay dir
Ky Hinh Trongs6 CLO | Cau | Piém | liéu do
hiéu Néi dung CLO thiec | trong thanh phan | héi ) lwong
CLO danh gia | danh gia (%) | thisd | téi da | mirc dat
PLO/PI
@ | 2) 3) (4) ®) | (6) ()
CLO 1 | Ap dung kien
thirc vé céch phét ’
am va cac bo phan Trac
phat am tiéng Anh | nghiém 15 112 015
trong viéc phat
am
CLO 2 | Van dung kién
thirc vé ngir am va
am vj dé xéc dinh
cac hién tuong 2
~ A Trac
ngir am trong nghigm 20 13-50 | 0.15
tieng Anh (nhan '
am, giam am, ndi
am, trong am va
ngtr diéu).
CLO 3 | Phan biét dac
diém, cac bo phan Tre
phat &m cua cac . 15 1-12 | 0.15
A nghiém
am tuong ty trong
tiéng Anh
CLO 4 | Thiét lap ki ning
phan tich cac hién | Tu luan 50 1-10 | 0.25
tugng nglr am, &m
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vi khi phién am tu
vung trong tiéng
Anh theo bang ki
hiéu ngix &m quéc
té IPA.

I11. Ngi dung cau hei thi . .
PHAN TRAC NGHIEM (50 cdu, 7.5 diém, 0.15 diém/cau)

Choose the CORRECT statement.

A. /bl is a plosive, bilabial and voiced consonant.
B. /b/ is a plosive, bilabial and voiceless consonant.
C. /bl is a plosive, labial and voiced consonant.

D. /bl is a plosive, labial and voiced consonant.
ANSWER: A

When is the sound /t/ aspirated?

A. When it occurs at the beginning of a stressed syllable.

B. When it occurs at the beginning of an unstressed syllable.
C. When it follows /s/ as in “stick”.

D. When it is at the end of a syllable.

ANSWER: A

Which word begins with a consonant?
A. use

B. hour

C.on

D. heir

ANSWER: A

Which sound has the following characteristics: alveolar — fricative — voiceless?
A.lsl

B. /m/

C. 1y

D. i/

ANSWER: A

Choose the correct statement.

A. Vowel shortening happens when the vowel is followed by a voiceless consonant.

B. Vowel shortening occurs when the vowel sound stands before a voiced consonant sound.
C. Vowel shortening only happens with long vowels.

D. The length of a vowel never changes if the vowel stands before a voiceless consonant
sound.
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ANSWER: A

Which word ends with a voiced sound?
A. allow

B. missed

C. kick

D. month

ANSWER: A

Which word ends with a voiceless sound?
A. loose

B. lose

C. loses

D. looses

ANSWER: A

Which words begins with a plosive consonant?
A. glorious

B. knot

C. psychological

D. know

ANSWER: A

Which vowel sound has the following characteristics: short-mid-central-neutral?
A lal

B. /o/

C. v/

D. /a/

ANSWER: A

What is a vowel phonologically?

A. A phoneme which can stand at the center of a syllable.

B. A phoneme which is produced with little or no obstruction to the airflow.
C. A phoneme which can stand at the edges of a syllable.

D. A phoneme which is produced with great obstruction to the airflow.
ANSWER: A

Which BOLD part contains a different vowel?
A. comb

B. brother

C. mother

D. oven
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ANSWER: A

Which word has the closest vowel?
A. foot

B. buck

C. chore

D. end

ANSWER: A

Which phrase contains the close vowels?

A. clean food
B. long hair
C. hot girl

D. sad cat
ANSWER: A

BM-003

Which vowel has the following characteristics: long — open — back — rounded?

A. la:/

B. /el

C. /r/

D. /a/
ANSWER: A

Which word contains a different vowel?
A. says

B. pray

C. pay

D. stay

ANSWER: A

Which sound structure is correct for ‘ploughs? (C

diphthongs)
A.CCvVC

B. CCVVCCC
C.CcvvcCcC
D.CCVvCC
ANSWER: A

Which sound structure is correct for ‘honored? (C

diphthongs)
A.VCVC
B. VCVCVC
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C.VvCvCC
D.CVvCVC
ANSWER: A

Which sound structure is correct for ‘English’? (C = a consonant, V = a vowel, VV =
diphthongs)

A.VCCCVC

B. VCVCC

C.VvCCvcCC

D. vCCVvCC

ANSWER: A

Which sound structure is correct for ‘sixties’? (C = a consonant, V = a vowel, VV =
diphthongs)

A. CVCCCVvC

B. CvCCVC

C.CvCcvvC

D. CvCCCvVvC

ANSWER: A

Which sound structure is correct for ‘mixed’? (C = a consonant, V = a vowel, VV =
diphthongs)

A. CVCCC

B. CVCVC

C.CvCcvC

D.CvCC

ANSWER: A

What is a syllabic consonant?

A. It is a consonant which can replace a vowel in a syllable.
B. Itis a syllable that does not contain a consonant.

C. Itis a syllable that has a consonant in the center.

D. It is a consonant which can stand at center of a syllable.
ANSWER: A

The prominence of a stressed syllable is formed by ......
A. loudness, duration, pitch, and quality

B. loudness, duration, pitch, and tone

C. pitch, loudness, level of stress, and length

D. tone, quality, loudness, and accent

ANSWER: A
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The maximum number of consonants on coda is ...... consonants.
A. 4

B.2

C.3

D.6

ANSWER: A

Choose the CORRECT statement.

A. Phonologically, a syllable contains a vowel at its center and consonants at the edges.

B. Phonologically, a syllable contains a center which has little or no obstruction to the
airstream.

C. Phonologically, a syllable contains a vowel at the edges and consonants at its center.

D. Phonologically, a syllable contains a center which has greater obstruction to the airstream.
ANSWER: A

Choose the correct phonemic transcription?
A. attack /o'tek/

B. baby /'beib1/

C. pigeon /'pidgn/

D. defeat //dr'fit//

ANSWER: A

Choose the CORRECT statement.

A. A syllable sometimes does not include any consonants.

B. A syllable can maximally begin in four consonants and end in four consonants.
C. A syllable can maximally begin in four consonants and end in three consonants.
D. A syllable always includes consonants.

ANSWER: A

Choose the CORRECT statement.

A. Phonetic transcription is put between square bracket ([ ]) which contains more information
and is more accurate than phonemic transcription.

B. Phonetic transcription is put between square bracket ([ ]) which does not contain such
features as aspiration, devoicing or shortening.

C. Phonetic transcription is put between slant bracket (/ /) which contains more information
and is more accurate than phonemic transcription.

D. Phonetic transcription is put between slant bracket (/ /) which does not contain such
features as aspiration, devoicing or shortening.

ANSWER: A

Which suffix does NOT change stress placement?
A. -ness
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B. -graphy
C. -ity

D. -ic
ANSWER: A

Which suffix carries primary stress themselves?
A. -ette

B. -ous

C. -ing

D. -ly

ANSWER: A

Which word has different main stress placement?
A. interesting

B. economic

C. entertain

D. understand

ANSWER: A

Which word has different main stress placement?
A. competition

B. competitive

C. competitor

D. competitively

ANSWER: A

Which word has different main stress placement?
A. eligible

B. allergic

C. pronounce

D. continue

ANSWER: A
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Choose an appropriate tone mark for each of the CAPITAL, BOLD syllables to indicate the

speaker’s attitude.

Would you rather go OUT or stay in? (The speaker presents a choice.)

A. rise

B. fall

C. fall-rise
D. rise-fall
ANSWER: A
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Choose an appropriate tone mark for each of the CAPITAL, BOLD syllables to indicate the
speaker’s attitude.

Speaker A: Which day is the English class on?

Speaker B: Monday, Wednesday and FRIDAY. (The speaker lists the items.)

A. fall

B. rise

C. fall-rise

D. rise-fall

ANSWER: A

Choose an appropriate tone mark for each of the CAPITAL, BOLD syllables to indicate the
speaker’s attitude.

What did you DO? (The speaker wants to ask for information.)

A. fall

B. rise

C. fall-rise

D. rise-fall

ANSWER: A

Choose an appropriate tone mark for each of the CAPITAL, BOLD syllables to indicate the
speaker’s attitude.

| phoned THEM, but there was no response. (The speaker hasn'’t finished his idea)

A. rise

B. fall

C. fall-rise

D. rise-fall

ANSWER: A

Choose an appropriate tone mark for each of the CAPITAL, BOLD syllables to indicate the
speaker’s attitude.

Tom: Hi, I’'m Tom. Pleased to meet you.

Mary: Nice to meet you too. What’s your NAME? (The speaker wants to hear something
again)

A. rise

B. fall

C. fall-rise

D. rise-fall

ANSWER: A

What is the correct phonemic transcription for the word “explanation”?

A. / ekspla'nerfn/
B. /ik'splein’'nerfn/
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C. Iik'splen'nerfn/
D. / eksplen‘erfn/
ANSWER: A

What is the correct phonemic transcription for the word “complained”?
A. lkam'pleind/

B. /kam'plernt/

C. /kem'plend//

D. /kam'plent/

ANSWER: A

What is the correct phonemic transcription for the word “reason”?
A. I'rizzn/

B. /'rizsn/

C. I'rizn/

D. /'rizsan/

ANSWER: A

The “onset” element in the monosyllable word “stressed” is
A. [str/

B. /s/

C. tr/

D. /st/

ANSWER: A

The “coda” element in the monosyllable word “lists” is
A. Ists/

B. /st/

C. Its/

D. /NI

ANSWER: A

How many types of diphthongs are there in British English phonology? What are they?
A. 2: centring and closing

B. 3: monophthongs, diphthongs and triphthongs

C. 3: centring, closing and backing

D. 2: backing and fronting

ANSWER: A

How many monophthongs are there in British English phonology?
A. 12
B.8
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C. 20
D.5
ANSWER: A

How many consonants are there in British English phonology?
A. 24

B. 12

C. 16

D.8

ANSWER: A

Which consonant has the characteristics of a vowel?
A ljl

B./m/

C. /el

D. /d/

ANSWER: A

In which of the following words can dark /I/ be found?
A. heel

B. play

C.lap

D. look

ANSWER: A

Which of the following words has the longest monophthong?
A tall

B. hit

C. eat

D. hope

ANSWER: A

A syllabic consonant can be found in the word “ending”.
A. The above statement is false.

B. The above statement is true.

ANSWER: A

The syllable structure for the monosyllable word “splash” is “onset + peak + coda”. What
is another term that also refers to “peak™?

A. center

B. rhyme

C. semi-vowel
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D. pitch
ANSWER: A

PHAN TU LUAN (2.5 PIEM, 10 cau, 0.25 diém/cau)

Write the correct spelling from each of the phonemic transcriptions.
Question 1: /mein‘'tein/
Question 2: /'lentan/
Question 3: /'sponsafip/
Question 4: /'kampani/
Question 5: /sak'sesfli/
Question 6: /ma'nipjalert/
Question 7: /'faraws:k/
Question 8: /‘auvali/
Question 9: /na'sesatiz/
Question 10: / anka'lektabl/

PAP AN PHAN TU LUAN VA THANG PIEM

Answer to question 1: maintain
Answer to question 2: lantern
Answer to question 3: sponsorship
Answer to question 4: company
Answer to question 5: successfully
Answer to question 6: manipulate
Answer to question 7: firework
Answer to question 8: hourly
Answer to question 9: necessities
Answer to question 10: uncollectable

TP. H6 Chi Minh, ngay 08 thang 03 nam 2024

P. Trwéng bo mon Giang vién ra dé

. fur

ThS. Cao Thi Xuan Tu ThS. Nguyén Huy Cuong
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